
5276 5276.5 5277 5277.5 5278
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

5959

5959.5

5960

5960.5

5961

5961.5

5962

5962.5

5963

ru
n

run:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

90−

89.5−

89−

88.5−

88−

us
l_

1X
usl_1X:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

1.5−

1−

0.5−

0

0.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

33

33.2

33.4

33.6

33.8

34

34.2

34.4

34.6

34.8

35

35.2

us
l_

4e
X

usl_4eX:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

22.6

22.8

23

23.2

23.4

23.6

23.8

24

24.2

24.4

24.6

24.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

41−

40.5−

40−

39.5−

39−

us
l_

12
X

usl_12X:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

5959

5959.5

5960

5960.5

5961

5961.5

5962

5962.5

5963

ru
n

run:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

143.8−

143.6−

143.4−

143.2−

143−

142.8−

142.6−

142.4−

142.2−

142−

141.8−

141.6−

us
r_

1X

usr_1X:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

2

2.5

3

3.5

4

us
r_

4a
Y

usr_4aY:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

207.2

207.4

207.6

207.8

208

208.2

208.4

208.6

208.8

209

209.2

209.4

us
r_

4e
X

usr_4eX:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

17.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

43.5−

43−

42.5−

42−

41.5−

us
r_

12
X

usr_12X:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

5959

5959.5

5960

5960.5

5961

5961.5

5962

5962.5

5963

ru
n

run:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

22889.6

22889.8

22890

22890.2

22890.4

22890.6

22890.8

22891

22891.2

22891.4

22891.6

22891.8

us
l_

co
il1

usl_coil1:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

3455.6

3455.8

3456

3456.2

3456.4

3456.6

3456.8

3457

3457.2

3457.4

3457.6

3457.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

3638

3638.5

3639

3639.5

3640

us
l_

co
il4

usl_coil4:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

1449−

1448.5−

1448−

1447.5−

1447−

us
l_

co
il6

usl_coil6:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

1923.5

1924

1924.5

1925

1925.5

us
l_

co
il7

usl_coil7:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

5959

5959.5

5960

5960.5

5961

5961.5

5962

5962.5

5963

ru
n

run:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

20138−

20137.5−

20137−

20136.5−

20136−

us
r_

co
il1

usr_coil1:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

2851.5−

2851−

2850.5−

2850−

2849.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

3453

3453.5

3454

3454.5

3455

us
r_

co
il4

usr_coil4:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

442.8−

442.6−

442.4−

442.2−

442−

441.8−

441.6−

441.4−

441.2−

441−

440.8−

440.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

36283.5

36284

36284.5

36285

36285.5

us
r_

co
il7

usr_coil7:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

5959

5959.5

5960

5960.5

5961

5961.5

5962

5962.5

5963

ru
n

run:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

283−

282.5−

282−

281.5−

281−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

19−

18.5−

18−

17.5−

17−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

302

302.5

303

303.5

304

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

338.5−

338−

337.5−

337−

336.5−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

43.8−

43.6−

43.4−

43.2−

43−

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

284

284.5

285

285.5

286

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

135.5

136

136.5

137

137.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

35

35.5

36

36.5

37

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

13−

12.5−

12−

11.5−

11−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

150.2

150.4

150.6

150.8

151

151.2

151.4

151.6

151.8

152

152.2

152.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

28−

27.5−

27−

26.5−

26−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

10.5−

10−

9.5−

9−

8.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5961}



5276 5276.5 5277 5277.5 5278
cyclenum

231−

230.5−

230−

229.5−

229−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

81−

80.5−

80−

79.5−

79−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

3

3.5

4

4.5

5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

481.5−

481−

480.5−

480−

479.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5961}

5276 5276.5 5277 5277.5 5278
cyclenum

5959

5959.5

5960

5960.5

5961

5961.5

5962

5962.5

5963

ru
n

run:cyclenum {run == 5961}
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